TENZO @ PALOMA

FINE PLOMBERIE
Robinet de lavabo 8 pouces mural Paloma

Wall mount 8in lavatory faucet Paloma

Rev: 2025-08-10

The product may vary slightly from its dimension and appearance | Les dimensions et |'aspect du produit peuvent varier légérement de I'illustration

Las dimensiones y el aspecto del producto pueden variar ligeramente respecto a la ilustracién

Tenzo Fine Plomberie | (450) 281-0581 | (855) 481-0581| support@tenzo.ca| 1101 Louis Marchand, Beloeil, QC, Canada, J3G 654 Pages 1/2



'—I—ENZO @ PAL16-XX

FINE PLOMBERIE .
Robinet de lavabo 8 pouces mural Paloma

Wall mount 8in lavatory faucet Paloma

Rev: 2025-08-10

* —

Scanner pour déterminer le code de finitions de votre piéce.

Scan to determine your part's finish code.

Code produit / Product code / Cédigo
de producto

Description FR

1 321-3003-00 Brut de robinet mural 8 pouces pour PAL16 Rough for 8 inch wall faucet for PAL16
2 CAR-CT-SO-8H-01 Cartouche de robinet 8po (ROUGE) avec extension 8 in faucet cartridge (RED)
3 CAR-EXT-46 Extension de spline de cartouche Dev. M/F 46mm avec vis M4x54 Spline extension for cartridge Dev. 46mm with screw M4x54
4 193-2035-00 Vis M4-0.7 x 54mm téte ronde prise phillips Screw M4-0.7 x 54mm rond head Philipps
5 EXT-PAL16 Extension de poignée pour robinet PAL16 Handle extension for PAL16 faucet
6 390-2003-00 Joint torique 56mm ID x 2,5mm dia. O-ring 56mm ID x 2,5mm dia.
7 375-2010-XX* Bride pour poignée de robinet mural PAL16 Flange for wall mounted faucet handle PAL16
8 374-3002-XX* Poignée de lavabo mural PAL16 Handle for PAL16 faucet
9 193-2120 Vis pression M5-0,8X4- Allen 2,5mm pointe conique Pressure screw M5-0.8X4- Allen 2.5mm conical tip
10 CAR-CT-SO-8C-01 Cartouche de robinet 8po (BLEU) avec extension 8in faucet cartridge (BLUE)
11 323-5001-00 Slip-fit série (R-14) Slip-fit series (R-14)
12 193-2104 Vis pression M3 x 4mm - Allen 2mm pointe conique Setscrew M3 x 4mm - Allen 2mm cone point
13 375-4005-XX* Bride de bec de robinet PAL16 Flange for PAL16 spout
14 167-1009-XX* Corp du bec de bain BS-308 Bath spout body BS-308
15 193-2101 Vis pression M4-0,7x4 - Allen 2mm pointe plate Setscrew M4-0.7x4 - Allen 2mm flat point
16 AE-FEN-05.03.0032-49-06-001 Aérateur non dirigeable pour robinet de lavabo, 1.2 gpm max. / 05.03.0032 Aerator non swivel for lavatory faucet, 1.2 gpm max. / 05.03.0032
The product may vary slightly from its dimension and appearance | Les dimensions et |'aspect du produit peuvent varier légérement de I'illustration
Las dimensiones y el aspecto del producto pueden variar ligeramente respecto a la ilustracion

Tenzo Fine Plomberie | (450) 281-0581 | (855) 481-0581| support@tenzo.ca| 1101 Louis Marchand, Beloeil, QC, Canada, J3G 654 Pages 2/2



